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. <o R T G0N SfSTater W gy OO L TR B T PSp————
(A) STEes @ AN (A Rrwa aftom comra onafafs o
, (B) CETATRIT ' (B) AV GI1s o forera aifsm
(C) WORTE i /(C) e o carm syformts o
(D) I (D) SA (1S (%73 AV (TG
Loss of accommodation power with ageing The Bachmann’s bundle carries cardiac
is called impulse from
(A) Astigmatism (A) Bundle of His to Purkinje fibre
(B) Presbyopia (B) AV node to Bundle of His
(C) Cataract (C) Purkinje fibre to papillary muscle
(D) Myopia (D) SA node to AV node

5. A5z @A PR FRRIHCRAR PR

o T
(A) TReERS @b
(B) T 5. ‘CANgTae iR o eTF =
(©) 28R BB ‘Portuguese man of war’ is
. (D) «fs=RFEs (A) Hydra sp.

+ (B) Physalia sp.
(C) Obelia sp.
(D) Paramoecium Sp.

Which of the following is not a part of
sarcotubular system of muscle?

(A) Sarcoplasmic reticulum

(B) T-tubules

(C) Terminal cisternae

(D) Epimysium

3. FEBenrE du a7 4 6. efEr AT W
(A) DNA feferfomad (A) % Frwe fom w
, (B) #fErarcers Aea (B) “3-S¥1% foree f&= it
,ﬂ (C) (s Anfer (C) et forws fom wr |
1 (D) ot e (D) wdbicermret férs Q|
What is the main role of nucleolus? Inheritence of colour blindness is due to

(A) X linked gene
(B) X-Y linked gene
(C) Y linked gene
(D) Autosomal gene

(A) DNA replication
(B) Ribosome synthesis
(C) Protein packaging
(D) Cell division
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10. mﬁmw%mw
0 SR [y SR CFTATD 543 Sestte oz

feoms o= e
(A) ' N The phenotypic ratio of ﬁ2~gencration
®) CrEFTEe " obtained according to Mendel’s dihybrid crog
(C) SRS

»
»
*
&R
€8
* X ,
# and law of independent assortment is
. (D) @R o : (A) 9:5:1:1
Genes located on‘Y' chromosome is called M . (B) 9:3:3:1
(A) Mutant gene ; (C) 9 . 5 . 5 P9
(B) Sex linked gene & (D) 9:3:5:2
(C) Autosomal gene »*
(D) Holandric gene *

#11. @I ©F O ot ==

8. R S T T — /(A) 1w TR
(A) T @ ,(B) IYES g
(B) B M (C) TR e
(C) NK @™ D) cour e

Bombay duck and Hilsha are example of
(A) fresh water fish
(B) marine fish

(C) breeds of duck
(D) breeds of sheep

Humoral immunity system is mediated by
(A) Tcell

(B) Bcell

(C) NKcell

(D) Plasma cell

12, RARCH TS (R Mroma @ @9

9. &==lba g IR = w—

. (A) 2P e @3k 28 (A) ffsfo
(B) wfeflee azd (B) o@ne
(C) Fafaeyies . (C) cepiofem
(D) fegtote erwifen wH (D) SOt
Biodiversity loss occurs due to the reason The disease caused by hypoactivity of
igiven below: thyroid gland in children —
1 (A) Habitat loss and fragmentation (A) Myxoedema
(B) Over exploitation (B) Goitre

(C) Co-extinction
(D) Allien species invasion

(C) Cretinism
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, (Bj wya RO (B)
(€) s (a) = 7o (B) Teng

©) I ST e A
Serum agglutinin presentin a person having

blood group-B —
(A)” Only alpha ()

(B) Only beta (B)
(C) Both alpha (o)) and beta ()
(D) No agglutinin present

14. T2 SHAN (AF FRAS FEHD =
(A) TFTEN
.(B) (2TEEHIN
(C) SRIFH
(D) HCG
Hormone secreted from corpus luteum —
(A) Estrogen
(B) Progesterone
(C) Oxytocin
(D) HCG

15, GeEEhe epffE @ fevfuTs el
77—
(A) AEfaefE
4 (B) zfErapmfen
(C) Amrfas
(D) A (A
Megaloblastic anaemia is caused by the
deﬁcie“c)’ of which vitamin:
(A) Pyridoxine
(B) Riboflavin
(C) Thiamine
(D) Cyanocobalamin
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16, @3- Rerys wmfaasf: sarra wa grirs shamt
T

(A) wram comea ) @
v (B) ot oot )
(C) eI (i =
(D) #Rwh (oira
One-seeded caryopsis type of fruit is found

5

(A) Fabaceae
(B) Poaceae
(C) Solanaceae
(D) Rubiaceae

17. SR
(A) wrlirgs fsifae
(B) TGS A
(C) =irgs o
. (D) wPiligs o
Amber is
(A) Fossilized lignin

(B) Fossilized suberin ® El
(C) Fossilized cutin :
(D) Fossilized resin m

18. FERER® WD SR in-situ TRIWER
THIEA P
[(A) iR G
B) fofGand
((C) HEw (%
(D) @8R B
Which one of the following is an example
of in-situ conservation of biological resources?
(A) Botanical garden
(B) Zoo
(C) Breeding center
(D) National park
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19, ST SRS (4 AT SR ore A, @ * 22, @FW e et —

»
EGl » (A) s Auter
() IR p (B) 6!
(B) wmE SR » : (C) offarma
(©) sl efew @ . (D) frzofiafos
o TS OfeR ﬁ Flame cell is found in
The group of plants where viviparous (A) Annelida
. : H * @’;‘
genmngtzon is found: . (B) wmm
(A) Halophytes » (C) Porifera
(B) Xerophytes g (D) Platyhelminthes
(C) Epiphytes &
(D) Hydrophytes %3
3
&  23. Octopus T G0
3
20. SRS O oAl T — o (A) F© -
o ~(B) Cofee e .
J(A) GGG

‘Aristattle lantern’ is found in
(A) Echinodermata

(B) Chordata

(C) Mollusca

(D) Annelida

(©) TS =
(D) TrE O

Octopus is a

(A) Squid

(B) Devil fish

(C) Locust

(D) Tusk shell

24, B757 0GR U T W W e SRS

= geArfesf i @ e (A) c¥fbs
(A) FeBBm-C ENEE £ (B) wyifdesa
+(B) fenffin-A s (C) WPRpsiIR
(C) febfam-B, L(D) wyifGeeire o
(D) fevfi-B,, The camel’s hump is comp &Ufa.g??;
Excess consumption of which of the ., that provides water when oxidised. Men®

following vitamins causes hypervitaminosis?
(A) Vitamin-C
(B) Vitamin-A
(C) Vitamin-B,
(D) Vitamin-B,,

SOUrce ——

(A) Skeletal

(B) Areolar

(C) Muscular
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D) ST SN .
tem, plate meristem and rib
. som are of meristematic tissue, which

Cl .

" clssified on the basis of
(A) Plane of divison
(B) Origin
© Function
(D) Position in the plant body

Mass meris

26, (@ SER SO (ACE ARG CofF A2
Which microbe converts ammonia to nitrite?
/ (A) Nitrobacter
.(B) Nitrosomonas
(C) Thiobacillus
(D) Micrococcus

27. TS| ST G T AT T —

(A) reTemtm
»(B) el

© =t
(D) sirefpifsf
Reproduction in larval stage is called
(A) Paedogenesis
(B) Neoteny
© Parthenogenesis
D) Panhenocarpy
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Which of the following enzymes catalyzes

the FADH,-producing reaction of Kreb's cycle?

(A) a-ketoglutarate dehydrogenase
(B) Succinate dehydrogenase

(C) Malate dehydrogenase

(D) Isocitrate dehydrogenase

29, AR ITOH AT SLATTRIA TR —
+(A) (I =t i
(B) SOMIGRIRG
(C) wFsIeEw
(D) FrifeE

Neural cell responsible for myelin formation

in peripheral nervous system —

(A) Schwann cell
(B) Astrocyte

(C) Oligodendroglia
(D) Pyramidal cell

30. IEAG g *FIh =
The endosperm in Gymnosperm is
+(A) 2n
(B) 3n
©) n
(D) 4n
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31. @HWWWCAMW : 34, Frorn fae i oftew T —

GRIRIER » Signet ring stage is found in
(A) LAY 2 » (A) Plasmodium vivax
B) s TfeH » (B) Giardia intestinalis
. (C) &S e ;,: (©) Leishmania donovani
D) way Sfew @ (D) Trypanosoma gambiensi
Which plant group commonly shows CAM :
photosynmesis? &
(A) Hydrophytes f
(B) Epiphytes *
(C) Xerophytes f
(D) Halophytes s 35 S AGHe esfd 28T CiosEo ok
s o 3T =16 = —
s (A) TR SMoT
’ (B) R AMds ATH .
32. (PGPS (TR S N — (C) g pH
. (A) FITEEDS M , (D) NGE ST
(B) 1R ™ Factor that does not influence enzyme
(©) SREREe @M activity —
D) et @ (A) Substrate concentration L

(B) Product concentration
(C) pH of the medium
(D) Osmolarity of the medium

Choanocyte cells are also called as
(A) Flagellated cell

(B) Collar cell B ?
(C) Amoeboid cell I'!'.l |

(D) Epidermal cell

36. W{w’aﬁmmw«ﬁ@m

4 33, 4 ‘sz cafReeR fofe = (A) QAR
(A) =narfawy ¢ (B) QRCAIYERI
(B) effemaret (©) cae eyicfan
H(C) Pt (D) wuifisteren
(D) o= The part of the brain in which ‘feedind

Phylum ‘Porifera’ is classified based on — centre’ is located —

(A? Branching (A) Thalamus EFuRE
(B) Syfnmcxxy (B) Hypothalamus %%
(C) Spicules (C) Basal ganglia

(D) Reproduction (D) Amyg dala
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37. PCR &ff&aE J3%S Taq sEsmares .
e BT T 40, wRoTEGDE PR e am e
Taq Polymerase enzyme is used in PCR is # fofa ara swfas sams, @ oo

isolate(: Ifr)or;; . s
. ermus a 7
(B) Salmoneﬂ: :‘\‘:::;num - (B) wfefrs aran
O Eschererhié coli : (C) wa=it%a i
©) Viriocholarse a2 (D) Frwa A5
r Phylogenetic classification is based on
il (A) Morphology

(B) Evolutionary history
(C) Reproductive features
(D) Seed structure

38, Sy o -STECE O (I e T
(A) @B <= Az =i |
B) «f5 5w FST TAeIAE TEDS 2|
(C) «fb AR i |

. (D) «f Fefers Wy 7= FHfEs | 41, TS @F 9G-S SeAs TR

Which of the following statement is true for RUCER LR
mooth le?
3 ;nuslc .e ! ] Which of the following dye-yielding plants
(A) Itis a voluntary -musc o ” belongs to Fabaceae family?
(B) It can c’ont:rac’.[ in response to motor (A) Crocus sativis ;
nerve stimulation. e T Ok Z1C)
. igofera tincto
(C) Itis astriated muscle. g 1. _ -
(C) Lawsonia inermis = 3

(D) Itis controlled by autonomic nervous
system.

(D) Rubia tinctorium

39, Frsfafae a1 TG AT Pt AT Ae 42. WN@F@Q’N@WWW——

‘(A) GFTATETH (A) TPIGS
(B) wfergiamst +(B) SOCSIRHIA
(C) “wigrirer (©) eRwesiias
(D) Wrecsfaa (D) ADH
Which group does not contain polyp stage? A hormone produced by kidoey —
(A) Anthozoa (A) Gastrin

(B) Aldosterone
(C) Erythropoietin

(D) ADH
[Please Turn Overl

(B) Hydrozoa
(C) Schyphozoa
(D) Calcarea
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@ aeierve Adves ysew e o 6 «% (Air bladder) *heW Ty —
= Air bladder is present in
The micro-organism which mediates (A) Scoliodon sp.
Jemtn SO0 ¥ +(B) Exocoetus sp.
» GAY NEumomeomas BRVE (C) Trvgon sp.
B Acoshacter : \ (D) Pristis sp.
AC) Thaodacilins %

D) Rbaxodeum

47. IERoTe Al aFNre FrEEw

4 S=TER TS — =
Respiratory quotient (R.Q.) of mixed diet— i O
{A) 085 B) 4
® o EgE (C) =Ry =
© 100 *(D) 2
(D) 095 = In Bryophytes, number of flagella present
in each antherozoid is
@A) 1
(B) 4
(©) Many
D) 2

45, 7%E TETSTE 0.9% NaCl 53 fasfese
=F & T
(A) FriTeTeese TF T3 |
(B) miEereshe gfws 1|
(C) iEeres as aRTas (S “eaes

SRV ONBDORRD D RN .mm.umm..mmmmmummmunn..tomcm#tmmnwewvuoaaon

R 48. oo 3w Sfw woww @b WM
+(D) Tmwhm wa e (G I CEGCR T
What will happen if RBC is immersed in A synthetic plant hormone used as herdicide
0.9% Na(Cl solution? is
(A) RBC will swell. (A) 1AA
(B) RBC will shrink. (B) GA,
(C) No change in shape of RBC. «(C) 2,4-D
(D) Hemolysis will occur. (D) Kinetin
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49, N BT TS SRTRCS A W — : 52, FUNAT (FM ohawt AR
(A) SRPEsTE * (A) Sy
' Fi :
(B) TFEE i : P . (B) 7303
(© Ole : (€) tafe e
(D) FFEDI @ (D) 3=cE
The study of fish culture is called gi Kupffer cell is found in
(A) Ophiology * (A) Pancreas
(B) Ichthyology 2‘; (8) Liver
(C) Herpetology * (C) Parotid gland

(D) Pisciculture (D) Large intestine

50, SRCFRFRRE T SIE 1 ACH Cofs, o = 53. ReaReR O Rrres @ba —

/(A) (1> 3)B-D T & (A) TR
B) (1 > 4) B-D &I T . (B) PGS S "
(C) a-L SprRAiReNe (C) Je=EA /
(D) B-D DB (D) AR S
Microfibrils are comprised of The shape of O,-dissociation curve of
(A) (1 - 3) B-D Glucan chain hemoglobin —
(B) (1 — 4) B-D Glucan chain (A) Oval
(C) o-L Arabinose (B) Sigmoid
(D) B-D Galactose (C) Circular

(D) Hyperbolic

EERSSEFTS SRR D RN .@@O.%%Q’%%%%%Q%%%&‘Q’QG‘%’%@*

=
HEEetiEres 54, SER RAPACPY G20 BRI T
e (A) T&am (SEeto)
(B) FdfisibiEree ‘ '
G +(B) (A st
i R Z-78)
(D) Femfbre (©) e ( -
Th g i digestion of (D) RN (CHATT)
e cg . - . . N
cafboh}’dratzx;z;::t;: Z(l)ilecnt;:y t;r:f:t is Example of an inorganic fungicide 1s
(A) Nucleotidase (A) Ziram (Zerlzfte) o
(B) Carboxypeptidase (B) Bordeaux mixture ﬁa
(C) Amylase (C) Zineb (Dithane Z-78) A
(D) Gelatinase (D) Ferbam (Fermate)
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sy AR semmr 3 S8 RS o1 G s mm%
&@*M 8 & »* A) ot ‘
55. T _E 93 Eua T » (A) @
e R R A pa ) A
) . (€) #p ,
A e BRE e O
AP - | ¢ s Which of the following organi
© Ry W R Ol Al . b ZANISMS breg,
- ? » Tom SKin
A ﬁiw & (A) Snake
When single placenta develops alongu;h;; & (B) Earthworm
i *
unction of two fusedmarg.m_s001;:;l ;:;nocarpe ' (C) Mosikes
single-chambered ovary, 1t1s : b ©) H
(A) Marginal placentanion s uman
(B) Parietal placentation f
(C) Axile placentation s
(D) Basal placentation : 59, (3 A 2NN T —
56. mﬁ@mv@wz@@mmw . J(A) AT
;mu@-ﬁ@z@mwm,ww i (B) YA
Y(A) s g o (ERV) - (C) =g W%
A3) wafwe wmpEE A (RV) p D) &% IT%
(C) IR =g 453% (FRC) ; Betz cell is found in —
(D) =% gF AFA (RV) s (A) Pons S
Volume of air that can be inspired by z (B) Thalamus C}
mzximum effort above the tidal volume is called (C) Cerebellum '@_\ ?
(A) Expiratory Reserve Volume (ERV) # (D) Cerebrum
(B) Inspiratory Reserve Yolume (IRV) ;
(C; Functional Residual Capacity (FRC) ¢
(D) Residual Volume (RV) & mﬂﬁﬁmwm
- ey e 60. (X8 T IF
57, 2% =% (2 Tz 5o O @ z iy g
. (A) T%E % v (A) TR
(B) €% 27 : (B) G-
(C) @ = # .(C) FRHITR
(D) Fz® = ’i (D) Tt —
. alf- A
Bast fibres are components of * A process ensuring self-p
(A) Xylem tissue z (A) Dichogamy
(B) Meristematic fisse » (B) Self-sterility
i) F 1w o ; (C) Cleistogamy
iy eimony fome # (D) Herkogamy
-
*
—”‘ 4

A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

